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x =Rcos a

v =Rsin a
2 =0 (2)
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vy =rsin fsin ¢

2z =rcos 0 (3)
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B ZJdB :&Fﬂ IRrcos Osin « da fori=1:n2

’ TodAn o (R* + * — 2Rrsin fcos a) z s() = t() * pi/180;
(10) end

B ZJ.dB,—&JZK IR (R — rsin fcos a) da fori=1:nl

S (R* + 7" — 2Rrsin Gcos a) = for j — 1:n2
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I=1; R=0.1;

nl =5; n2 =6;

r=1[0.05,0.15,0.3,0.5,1.0];

t=1010,10,30,45,60,90];

B = zeros(nl,n2); s = zeros(1,n2);

n=1000; h=2%pi/n; x =[0:h:2 * pi];

Bx =Bx +1% R * r(i) * cos(s(j)) *
cos(x(k)). /(R."2+1(1)."2—2% Rx*r(i) *
sin(s(j)) * cos(x(k))).(1.5) * h;

By =By +1x R* r(i) * cos(s(j)) *
sin(x(k)). /(R.°2+71().2—2% R*r(i) *
sin(s(j)) * cos(x(k))).~(1.5) * h;

Bz=Bz+ 1% R* (R—r() * sin
(s(j)) * cos(x(k))). /(R."24r()."2—2* R *
r(D) * sin(s(j)) * cos(x(k))).(1.5) * h;

end
B(@i,)) = sqrt(Bx. "2 + By. "2 + Bz. "2) ;
end
end
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0.05 44.958 8 45.433 6 49.395 0 55.378 7 64.058 7 78.264 7
0.15 10.724 0 10.822 3 11.646 5 12.910 8 14. 809 3 17.891 2
0. 30 1.986 9 1.980 7 1.922 4 1.817 9 1.643 9 1.328 0
0. 50 0.473 9 0.470 1 0.439 4 0.396 4 0.340 8 0.263 1
1.00 0.061 9 0.061 3 0.056 2 0.049 7 0.041 8 0.031 8
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